	Identify measure (and count) of error
	

	Describe the nature of the error and what concepts are affected (e.g. rhythm, pitch, balance, phrasing,etc)
	

	What do you believe in the cause of this error?


	

	What are 3 approaches that could be used in practice to correct this error?



	

	Sample student response:
At measure B, the woodwinds enter with sixteenth notes and the brass play the passacaglia theme.  The sixteenth notes are not being played with vertical alignment.  I think they do this because they do not think about subdividing the beat and they have no confidence in their scales.  To work on this issue, they should practice with a metronome at slow tempos with the metronome clicking out eight (sic) notes.  They should also work on their e flat scales to make sure they know all the notes.  They should also listen to the brass part for where the beat is played because we play on their first sixteenth note of each set of four sixteenth notes.


[bookmark: _GoBack]
[image: ]This work by Brian N. Weidner is licensed under a Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License.

image1.png





[ST———

st ot b il 1y e et
st ot i e e e o b s gt e, Ty

e o e e b o e oy i o e i f S

i oy 5 . Vit i s e a s Commors




